

HW 7

1. Evaluate the improper integral $\int_1^{\infty} \frac{1}{x^2+x} dx$

$$\begin{aligned}
 \text{Sol: } \int_1^{\infty} \frac{1}{x^2+x} dx &= \lim_{b \rightarrow \infty} \int_1^b \frac{1}{x^2+x} dx \\
 &= \lim_{b \rightarrow \infty} \int_1^b \left(\frac{1}{x} - \frac{1}{x+1} \right) dx \\
 &= \lim_{b \rightarrow \infty} \left(\ln|x| - \ln|x+1| \right) \Big|_1^b \\
 &= \lim_{b \rightarrow \infty} \ln \left| \frac{x}{x+1} \right| \Big|_1^b \quad b \geq 1 > 0 \Rightarrow \frac{b}{b+1} > 0 \\
 &= \lim_{b \rightarrow \infty} \ln \frac{b}{b+1} - \ln \frac{1}{1+1} \\
 &= \ln 1 - \ln \frac{1}{2} = \boxed{-\ln \frac{1}{2}}
 \end{aligned}$$

* 2. Evaluate the improper integral $\int_{-\infty}^{\sqrt{2}-1} \frac{1}{x^2+2x+3} dx$

$$\text{Sol: } \int_{-\infty}^{\sqrt{2}-1} \frac{1}{x^2+2x+3} dx = \lim_{a \rightarrow -\infty} \int_a^{\sqrt{2}-1} \frac{1}{x^2+2x+3} dx \quad \dots\dots 1''$$

$$\begin{aligned}
 \int \frac{1}{x^2+2x+3} dx &= \int \frac{1}{(x+1)^2+2} dx \quad \left[\text{Let } u = \frac{1}{\sqrt{2}}(x+1) \quad du = \frac{1}{\sqrt{2}} dx \right] \\
 &= \int \frac{\sqrt{2}}{2u^2+2} du \\
 &= \frac{\sqrt{2}}{2} \int \frac{1}{u^2+1} du \\
 &= \frac{\sqrt{2}}{2} \arctan(u) + C \\
 &= \frac{\sqrt{2}}{2} \arctan\left(\frac{1}{\sqrt{2}}(x+1)\right) + C \quad \dots\dots 2''
 \end{aligned}$$

$$\begin{aligned}
 \text{So } \int_{-\infty}^{\sqrt{2}-1} \frac{1}{x^2+2x+3} dx &= \lim_{a \rightarrow -\infty} \frac{\sqrt{2}}{2} \arctan\left(\frac{1}{\sqrt{2}}(x+1)\right) \Big|_a^{\sqrt{2}-1} \\
 &= \frac{\sqrt{2}}{2} \arctan(1) - \frac{\sqrt{2}}{2} \arctan(-\infty) \quad \dots\dots 1'' \\
 &= \frac{\sqrt{2}}{2} \cdot \frac{\pi}{4} - \frac{\sqrt{2}}{2} \cdot \left(-\frac{\pi}{2}\right) = \frac{\sqrt{2}}{8} \pi + \frac{\sqrt{2}}{4} \pi = \boxed{\frac{3\sqrt{2}}{8} \pi} \quad \dots\dots 1''
 \end{aligned}$$

* 7. $\int_{-\infty}^0 \frac{x}{x^4+4} dx = \lim_{a \rightarrow -\infty} \int_a^0 \frac{x}{x^4+4} dx \dots\dots 1''$

$u = \frac{x^2}{2}$
 $du = x dx$
 $\dots\dots 1''$

$$\int \frac{x}{x^4+4} dx = \int \frac{1}{4u^2+4} du = \frac{1}{4} \arctan(u) + C = \frac{1}{4} \arctan\left(\frac{x^2}{2}\right) + C \dots\dots 1''$$

$$\int_{-\infty}^0 \frac{x}{x^4+4} dx = \lim_{a \rightarrow -\infty} \left. \frac{1}{4} \arctan\left(\frac{x^2}{2}\right) \right|_a^0 = \lim_{a \rightarrow -\infty} -\frac{1}{4} \arctan\left(\frac{a^2}{2}\right) = -\frac{1}{4} \cdot \frac{\pi}{2} = \boxed{-\frac{\pi}{8}}$$

convergent $\dots\dots 2''$

* 8. $\int_0^{\infty} e^{-\sqrt{x}} dx = \lim_{b \rightarrow \infty} \int_0^b e^{-\sqrt{x}} dx \dots\dots 1''$

$u = \sqrt{x}$
 $du = \frac{1}{2\sqrt{x}} dx$
 $dx = 2\sqrt{x} du = 2u du$
 $\dots\dots 1''$

substitution $\dots\dots 1''$

$$\int e^{-\sqrt{x}} dx = \int e^{-u} \cdot 2u du$$

$\left[\begin{array}{l} v=2u \quad w=e^{-u} \\ dv=2du \quad dw=-e^{-u} du \end{array} \right]$	derivative by part $\dots\dots 1''$
---	-------------------------------------

$$= -2u \cdot e^{-u} + 2 \int e^{-u} du$$

$$= -2ue^{-u} - 2e^{-u} + C$$

$$= -2e^{-\sqrt{x}} (\sqrt{x} + 1) + C$$

So $\int_0^{\infty} e^{-\sqrt{x}} dx = \lim_{b \rightarrow \infty} -2e^{-\sqrt{x}} (\sqrt{x} + 1) \Big|_0^b$

$$= -2 \lim_{b \rightarrow \infty} \frac{\sqrt{b} + 1}{e^{\sqrt{b}}} + 2 = -2 \cdot 0 + 2 = \boxed{2} \dots\dots 1''$$

convergent.

$\lim_{b \rightarrow \infty} \frac{\sqrt{b} + 1}{e^{\sqrt{b}}} = \frac{\infty}{\infty}$ L'Hospital's Rule = $\lim_{b \rightarrow \infty} \frac{\frac{1}{2\sqrt{b}}}{e^{\sqrt{b}} \cdot \frac{1}{2\sqrt{b}}} = 0 \dots\dots$ L'Hospital's Rule $1''$